$$
\begin{array}{lll}
2 \frac{1}{3} \cdot 1 \frac{1}{3} & 9 & \\
=\frac{28}{3} \cdot \frac{2}{3} & \frac{9}{9}- & \\
=\frac{28}{9} & \frac{18}{91} & 3 \frac{1}{9}
\end{array}
$$

$$
\begin{aligned}
& 2^{\frac{1}{3}} \div 1 \frac{1}{3} \\
& 1 \frac{3}{4} \\
& \frac{7}{3} \div \frac{4}{3}= \\
& \frac{7}{3} \cdot \frac{33^{\prime}}{4}=\frac{21}{12}=1 \frac{9}{12} \\
& \text { (1)|या(1)1 } \frac{9}{12}
\end{aligned}
$$

prob 3-51 11/11/19
a) pos.
b) $p o s$
c) negative
d) neqativi
e)



$$
\begin{gathered}
2.2-(-2.2) \\
<\frac{2.4}{\frac{2.2}{2.2}}
\end{gathered}
$$



$$
\begin{array}{ll}
10+3(2)= \\
10+6=16 \\
10-3(2)= \\
10-6=4 \\
10+3(-2)= & 10-3(-2)= \\
10+(-6)=4 & 10-(-6)= \\
& 10+6=16
\end{array}
$$

$$
\begin{aligned}
& 7(-11)=-77 \\
& -7(-11)=77 \\
& \text { Neg. Neg }=\text { Positive }
\end{aligned}
$$

$$
\begin{gathered}
-1-(-6.5)= \\
-1+6.5
\end{gathered}
$$



$$
\begin{aligned}
& 2-(-2)=2.2-(-2.2) \\
& \pm++t \\
& 2.2-(-2.2)= \\
& 2.2+2.2=4.4
\end{aligned}
$$

$$
\begin{aligned}
& 10+3(2)= \\
& 10+6=16 \\
& 10+3(-2)= \\
& 10+(-6)=4 \\
& 10-3(2)=4 \\
& 10-6= \\
& 10-3(-2)=10-(-6)= \\
& 10+6=16
\end{aligned}
$$

$$
\begin{array}{ll}
3(2)=6 & P \cdot P=P \\
3(-2)=-6 & P \cdot N=N \\
-3(2)=-6 & N \cdot P=N \\
-3(-2)=6 & N \cdot N=P \\
& -3-(-2)
\end{array}
$$

$$
\begin{aligned}
& 6(-2)=-12 \\
& 6(2)= \\
& -6(2)= \\
& -6(-2)=
\end{aligned}
$$

prob 3-51 11/11
a)
b)
c)
d)
e)


$$
\begin{aligned}
10+3(2) & = \\
10+6 & =16 \\
10+3(-2) & = \\
10+(-6) & =4 \\
10-3(2) & = \\
10-6 & =4 \\
10-3(-2) & = \\
10-(-6) & =16 \\
10+6 & =16
\end{aligned}
$$

$$
\begin{array}{ll}
3(2)=6 & P \cdot P=P \\
3(-2)=-6 & P \cdot N=N \\
-2(3)=-6 & N \cdot P=N \\
-3(-2)=6 & N \cdot N=P
\end{array}
$$

prob 5-31
a) $-1-(-6)=11 / 11 / 19$

$$
\begin{gathered}
+-\ldots+=+5 \\
2.2-(-2.2)= \\
2.2+2.2=4.4
\end{gathered}
$$

$$
\begin{aligned}
& (3)+(3)=6 \\
& 2(3)=6 \quad P \cdot P=P \\
& (-3)+(-3)=-6 \\
& 2(-3)=-6 \quad P \cdot N=N \\
& -(3)-(3)= \\
& -2(3)=-6 \quad N \cdot P=N
\end{aligned}
$$

$$
\begin{aligned}
& P \cdot P=P \\
& P \cdot N=N \\
& N \cdot P=N \\
& N \cdot N=P \\
& P=\text { Positive } \\
& \quad N \text { =Negative }
\end{aligned}
$$

$$
\begin{aligned}
& 10+2(3)=10+6=16 \\
& 10-2(-3)=10-(-6)=10+6=16 \\
& 10-2(3)=10-6=4 \\
& 10+\underbrace{2(-3)}_{2(-3)}=10+(-6)=4
\end{aligned}
$$

$$
\begin{aligned}
& 2(6)=12 \\
& 2(-6)=-12 \\
& -2(6)=-12 \\
& -2(-4)=12
\end{aligned}
$$

